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vier Briiche, Dezimalstellen, Reihenfolge der
Operationen

Name:

11
S 4 x246%x56+3=
6 4 ’

%—¢8x2+8x3+4=

5,243,7x2+12x4,3+4=

el

1
— - x2+2,6=
2 9

1
~ Z+4x3,7=
3

Datum: Ergebnis:

1 1
S +9x=+3+3x4,9=
3 3 ’

1 1
S —4,5x5+8x —+4=
2 2

%—20><5,3+5+2><4=

1
2,7+5x5-4x3,8+2=
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vier Briiche, Dezimalstellen, Reihenfolge der

Operationen
Name: Datum: Ergebnis:
—1><2+26—9—14 L0 x ;3+3x49—481—161
2 5 s ' 730 30
1 1 178 13 1 1
-+ —-XxX2+6X% +3=—=11— — =4, 5x5+8%x —=+4=(-21
6 4 6%5,6+3 15 15 2 3 X3+8 2 (721)

1 31 1
~ —4,8x2+8x3+4=(-2)=(-3—
5 "4 8x2+8x3 190 = 370

1 1

5,2+43,7x2+12%x4,3+4= S5t
2 2

1 4

14 3,7=—883 s

4 60 60

W] =

3 117 7
Z -2 +542%x4=(——) = (~11—

1 12 2
2,7+ = x5-4x3,8+2=(——)=(2-
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